
Prof. Madonna    Name____________________________ 
Spring 2021           
Spatial Modeling Exercise 1 
 

  
1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a five-member committee that oversees the 
relevant policy area.  Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or what not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or what not?   
  

       M1          M2 SQ  M3       M4       M5           M6        M7        M8      M9 

       M1        M2                                                   M7        M8          M9 
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1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a five-member committee that oversees the 
relevant policy area.  Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or why not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or why not?   
 
  

       M1          M2           M3       M4       M5  SQ   M6        M7        M8      M9 

       M1        M2         M3                                M6                                    M9 
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1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a three-member committee that oversees the 
relevant policy area. Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or what not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or what not?   
 
  

       M1          M2           M3       M4       M5           M6        M7         M8      M9   SQ 

                    M2                                M8      M9 
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1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a five-member committee that oversees the 
relevant policy area.  Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or what not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or what not?   
 
  

       M1          M2           M3       M4       M5           M6        M7 SQ M8      M9 

       M1           M2       M3                      M8      M9 
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1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a three-member committee that oversees the 
relevant policy area.  Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or why not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or why not?   
  

       M1          M2           M3       M4       M5  SQ   M6        M7        M8      M9 

       M1                                                          M6                                 M9 
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1.  Assume members of a nine-person legislature are ordered in the following manner on 
a left (liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, 
and M9 being the most conservative.  Further assume that the status quo policy for a 
given issue is represented by the dashed line labeled SQ.  Under simple majority rule, to 
what legislator’s ideal point should the policy move? 
 
 

 
2.  Assume the following figure represents a three-member committee that oversees the 
relevant policy area.  Assuming simple majority rule on the committee, where will the 
committee’s proposal be located?   
  
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the 
committee report the bill to floor?  Why or why not?   
 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the 
committee report the bill to floor?  Why or why not?   
  

  SQ   M1         M2         M3       M4       M5          M6        M7        M8      M9 

       M1                                                                   M8         M9                   
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1.  Assume members of an eleven-person legislature are ordered in the following manner on a left 
(liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, and M11 
being the most conservative.  Further assume that the status quo policy for a given issue is 
represented by the dashed line labeled SQ.  Under simple majority rule, to what legislator’s ideal 
point should the policy move? (1 point)  
 
 

 
2.  Assume the above figure represents a five-member committee that oversees the relevant policy 
area.  Assuming simple majority rule on the committee, where will the committee’s proposal be 
located?  (1 point) 
 
 
 
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the committee 
report the bill to floor?  Why or why not?  (4 points) 
 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the committee 
report the bill to floor?  Why or why not?  (4 points) 
 
 
  

M1 M2 M3 M4         M5 M6 M7 M8 M9 SQ M10 M11 

M1            M3 M4       M5       M6      



Prof. Madonna    Name____________________________ 
Spring 2021                       
Spatial Modeling Exercise 8 
   

  
1.  Assume members of an eleven-person legislature are ordered in the following manner on a left 
(liberal) – right (conservative) ideological spectrum, with M1 being the most liberal, and M11 
being the most conservative.  Further assume that the status quo policy for a given issue is 
represented by the dashed line labeled SQ.  Under simple majority rule, to what legislator’s ideal 
point should the policy move? (1 point)  
 
 

 
2.  Assume the above figure represents a five-member committee that oversees the relevant policy 
area.  Assuming simple majority rule on the committee, where will the committee’s proposal be 
located?  (1 point) 
 
 
 
 
3.  Given the committee’s proposal and the status quo, under an open rule should the committee 
report the bill to floor?  Why or why not?  (4 points) 
 
 
 
 
 
 
4.  Given the committee’s proposal and the status quo, under a closed rule should the committee 
report the bill to floor?  Why or why not?  (4 points) 
 
 
 

M1 M2 M3 M4 SQ M5 M6 M7   M8 M9 M10 M11 

M1            M3  M5          M8         M10 

     


